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NOTES: Section 6.6 - Solve Radical Equations

Goals: #1 - I can solve radical equations and check for extraneous solutions.
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#2 - | can solve an equation with two radicals. v ‘e
o &3
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Homework: Lesson 6.6 Worksheet

Warm Up: Graph the function. Then state the domain and range. Lastly, compare the

function with'its parent function. l'\[m + )
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To solve a radical equation:

1. \5 0 ‘(L"’Q- the YQ(O. \ (,M on one side of the equation.
2, E(USL each side of the equation to the same Q Q\“v to eliminate radical.
3. 3 Q\ NL  the polynomial equation using { (Q \“\Q U{S we've learned.
4. Ql L&LL your soultion!
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Example #1: Solve the equation. Check your solution.

1. Yx-5-1=-1 2. Bx+4)¥3 =16
Wy Ve 2 10
(R%=5)%= (0)° ()’ = (1v)
X 20 (3x+4) = 404b
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3. x—2=Vx+10 g'-=\b 4 Vx+6+2=v10-3x

(x-2)" = ( X110)
X -4X+4=X+10

Vo=1ov (Vxib +2) = (Viesx)
(VEe 4 1) (VFTe 12) = 1073X
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You practice: Solve the equation. Check your solution.

2.x+2=v2x+7

(X 17)" - (\}Zxﬂ)t

1. =2x¥3 -21 = -53

+ ) +7) —1(%)115'2\1'5' '5}
S T ARRYA( D e -53

-z _g3--53v 1\ X *ix +L|:z:1_;:
X 3 Vo g3 553 -2x -1 -2
ORISR . o
@x) =l -u2-sy) XY ]
RECERAN NIV X+ -N=0
W o -93= 753 ,,:jn(u =
HX = 12 ’ir\\’g“ﬁm 7&-{1’5\ \m
SO\ — e
(%) P2 (1"2»)3 CRTAIRTFICILE 142 = Y1)
= +9q 5= \et1 3=V9
X223 ( 57) 5= 3/

3.V3x+4—-1=+vx+5

SETTRE (VXes)
(ox+d D) (3 -1) = x5
OXt9-2ax 4 +) = x+ 5
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23K+ = -Lx T -l VAT B R

~ 72 -2 2 V314 -1 2 VY
\zwl-\—ﬁ T-172

3xtd = X HEE ol

() > (X) 4-1=3 022

3xt4 = X 3=
X - 3x-9=0
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